Efficiency vs dr

x 0.5
<
g0.45
>
o 04
c
Q
503
=
® 0.3}

0.25]

0.2
0.15]
0.

0.05F - -
O J..\-B T T T T T T [T1
= —=— DQM_original_step2_ttbar- phasel newgeom
&U —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—_— DQM_plerCPETempIateCutCh|SquareNew5 step2_ttbar-phasel-newgeom
0. 95 hl”" lII|I " "
107 1072 10

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

P, jet
o
. D

0.35

©
w

0.25

eff|C|ency vs AR(T

o
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

©
a

0.45

0.35

eff|C|ency vs PU
o
D

o
w

0.25
0.2
0.15]
0.4F----i ; : : :
R i

J..h'U) 1t

Ratio

60 80 100 120 140
Pileup

(=]
N

0.95
2



	Contents
	Page 1


